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SECTION I (50 I\ <S)

Answer all the qucqnmis in this section _
Evaluate :- %\Q | - (3mks)
_ & _

1

';”f 25t s ‘13‘ 2

X
&
%
&
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2. <\ Use tables of squares, square
@ ) TR

R

N 4205 + 1
Qo* J5124 /
//.I

foots and reciprocals to evaluate:- (4mks)

3, Simplify the expression “(3mks)

316 "+ Txy - 6y Cdim b
9x? —4y ' i
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Foure beiow ABCDE is a regular pen:
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Find angle o
N
4
() EBGR (2mks)
N Q
¥
&
NA
s
& -
KN (i1) EFC (2mks)
&
3 Solve for x and y in the equations (2mks)
2" +37 =59
6. Two tellers from Equity Bank takes 3 mmutes and 4 minutes respectively to serve a customer.
" How long does.it take to serve 210 customers given that they started working at the same time.
(3mks)
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Jtven thal the

Ve that Sip 6 =

A bus moving at

an wcmge Speed of(mg@(ﬁi h ILIt Mer u for Nc]l[?

mng dt lOOkm 'h left Melu for \@?0 biat 8.304° m. If thc
250k, How. far from Nairobi

bi clt 7 O(]a m \J\h}[g acar
moy

dpstancc bctwceu Mcru riﬂd Nairobi

g&rhc car overtake the bus? i (3mks .
e . .
Q}Q :
6 .
<
o
\Q}
&
.\\
N
Q}%
Q R
Lising a ruler and
c)\?

a pair of compasses only,

- construct tri;
ind angle RPQ = 45° (“‘onslruct

angle PQR such that rPo

= Semy PR = 8em
and me

an inscribed circle asure its radius. (4mks)

position vcclor oﬂ’

IS 4!—

3/ and vector of PQ is 574 % Find the coordmates of Q.

(3mks)

ﬁ, find tan (90— ()J:_in._its simplest form.

(2mks)
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{2) Express the following numbers as a %@Guci of their prime faciors 1176, 504 and 1223,
(2
%\Q (2mks)
Q
R
06
"
@
& :
&
&7
T o :
(b) hencgqévaluate:— (2mks)
\(1?‘76 x 504
iz
&
NS
Solve the following inequalities and state the integral values. (3mks)

x—2<3x+1<x+11

The equation of line L; is2x—5y—10=0. Find the equation of line L, perpendicular to L, and

passing through point (2, -5). (3mks)
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L4, A commercial bank in Kenya trade in fnrc:gﬁ'urrur}c_\' as shown in the table below .
: N . 2
B%Q%g (Ksh) Selling (Ksh)
I U.S.A dollar 283 40 82.44
I sterling pound ' 6®Q 120.52 120.54
)
A student who is gomg for séﬁ(\jﬂcs in U.S.A had Ksh 1, 23 0, 600.
AN
fa) Calculate the agg@h}t of money in dollars she had to the nearest dollar- (1mk)
&
&7
&’
R

(b) Q@Qiis father who works in Britain sent her 4000 sterling pounds, while she was still in

C?Q/ Kenya. Find the total amount in dollars she lefi with to U:S:A.
\L..

Q}Q/

Q\
\Q;

Y
&

(3mks)

A cylindrical can of radiug 10.5cin contains some walcr.,
and external diameters 7em and 14 cm res

change in the height of the water level jn tl

A 17.5mm thick circular rin g of interval
ectively was submerged into the water. Find the
e cylinder 0 the nearest centimeter. (3mks)

1 6. The mass of 6 identjcal cylindrical containers and 4 id
mass of 2 such ¢ylindrical containers and 3 such recia;
mass of each type of container.

entical rectangular containers is 7.2kg. The
igular containers is 3.4kg. Calculate the
(3mks)
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17. The table below shows the marks S%Q%d by form 4 students in a certain School.
Marks | 4044 | 45-49 | 50-3¢ | 55-59 [60-64 | 65-69 | 70-74 |75-79 | 80-84 |
- Frequency | 5 | 4 KX 6 13 | 4 " 3 2 i
} d _JI Q{i i | |
N
X
(a) State (i)A\6 the modal class. (1mk)
&7
R
X N '
Qfoc’ (i1) the modal frequency - (Imk)
@‘o
NA
&
@Q (b) By using an assuming mean of 62, calculate:-
J
N\ (i) The mean {3mks)
Y
«° '
(i1) The variance (3mks)
(iii)  The standard deviation. (1mk)
(c) Determine the percentage of students who failed if the pass mark was 55. {Imk)
©2014 Meru Courty Academic Committee 7 121/1 Mathematics Turn Over
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18. The figure below shows a solid structure in tll@OQha pe of a frustum of a cone with a hemispherical
bottom. The radius of the llcnubpheucal@t is l4em and is equal to the radius of the bottom of

the frustum. The frustum has a top r%d%m of 8cm and height of 6em.
2

X
,0.9
Q{,ﬁ calculate to 2 decimal places:-

&

(1) The volume of the frustum. (5mks)
Q)Ql
<<\
<
\
Y
\Y
<«
(i1)  The volume of the solid. ' : (3mks)
! (b) -~ Given that the solid-has a mass of lkg. Find it’s density in g/em®. ——-— -~ (2mks)
|
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5 . A a merchant mixes two types of tea A and B costing gf’ 100 per kg in the ration
3:2 by weight respectively. %\Q
s ' 22 2 o ;
{a) Find his percentage profit if he sells thgz&mtu.rc at Ksh 320 per kg. {(4mks)
@%0
Q
AN
&
&
&7
&7
R
o Q
e
&
NS
&
&*
'@‘Z’
. (b The price of the type A tea goes U by 10% and that of type B goes U by 20%. By selling
S . p yP g P ype B 8 p by y g
3kg of the mixture for sh. 1040 the merchant malkes the same percentage profit as before.
of tea. (4mks)

Tind in what ratio he now must mix the two types

(c) If he adds a third type € costing sh. 100 per kg t© the mixture in (a)above such that

A: C = 2:1. Find the cost per kg of the new mixture to the nearest shilling. (2mks)
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A1) Members of

ksh. 6
) .
I %@\I amount. Before th
2 : > g o, :
out from the project, congequently the femaining members had 1o pay more,
©
(a) If'y stands for the majg(‘l}nal number of memb

4 young farmers club decid@i to raise
zach member was to contribute e
pulled

3000 towards a quail farming project.

¢ contributions were made, 7 of them

€IS, write an expression to show:-

(1) the ori g]gh(f contribution per member. (Tmk)
2
&
R
6\
£ \}
() the new contribution per member : (1mk)
eﬁ
R
Q
X
&
@‘o
N (h) If the increase in the contribution per member was sh. 100, find the number of members
Q‘QI that were onginally involved in the pl‘o}ec( (4mks)
&
&
(c) Calculate the pcrceutage'increase in the contribution dué: to the withdrawa] of some
members to two decimal places. (4mks)
|
l
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1

: btk ' i 3yand T2, 1)
-y . Vo SR R s 3 - (2.
21, Iriangle ABC 15 suich tnat the o« i

(a) Draw tniangle ABC.

— -
! ERES L Has P
J b
|
N AR
[ BENE | & 1
gt . |
H - -
h : ]
[
H
. - } [
M :
—
HEE T I S .
B -
1 .1 I
! ] 1
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(b) Draw A '.A'B’C' the imageof A ABC under rotation of 490" about (0, 0) " (2miks)
g%
R
KQ
©
Q
R
)
)
e*
, S . L s ;
(c) Draw A _As'\\B“C‘] the image of A A'B'[Cl under a reflection in the line y = x. (2mks)
.\\ ‘
&7
\6 :
(d%QQ’ Triangle A''B!!111 ¢ the image of A A!'B!IC!! under and enlargement. Given that
& Al (7,-3y B' (3.-1) and C'! (5, 3) determine the coordinates of the centre and the
{ox .
Q,Q scale factor of the enlargement, (3mks)
< |
<
)
<&
o
\
Y
&
(e) Name the triangles which are oppositely congruent. {2mks)
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27 I teanele OAR OA - 4 OB = A M a @it on OA such that 30N - IMA and N divides OB
R '
in the ratie 103 Lines AN and BM imi;gg,\cut at X,
&N
s |
& /i \
& ~oa/ [ e
M L X
& / '"“‘:XHR %
=) W
A\ / H“"a-.
""'\-.H_“_H-

{_c?((’ iy  AB (1mk)

; <
RN
G
((0\ (i1} MB _. _ {1mk)
(iii) AN {(Imk)
(b) Given that AX = KAN and MX = PMB where k and p are constants; Express OX in terms
of . o
(i) a ,bhandk ' (1mk)
(11) ¢ , b andp . A (1mk)
Hence find the numeric values of k and p. (4mks)
(c} Determine the ratio AX: XN (1mk)
€ 2014 Meru County Academic Commitice {3 12171 Mathematics Turn Over
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23 Four hospital% P, Q, R and S are such é}l?t Q is 25km on a bcaring 6f 060" from P. The beating of
S from P is 220 a distance of 7. 5{&1 Jhe hem ing of R from S is 135" a dlst'mu, of 50km. usea

scale of lem to represent 51&1@9

(a) i}mw a dmgram @(‘qhow the relative poqmons of the four hD‘q_’!ltdlb (4mks)
\
\
N
&7
S.
&
Q’O
SN
&
Z
&
<
<
<<\

~(b) Use your: dlagi am 10 fmd

(1) lhe cilstanc:t othqu | _ iy ' ; (211;ks)

|
! (i) Distance of Q from S. : S N (2immks)
.(.'h.nk) .
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(a) Calcu-]_gte%o 2 decimal places:-
& .
C%’Q PR (2mks)
& |
o
Q‘Q) _
s
\
\\
&
(i)  Angle TPR (3mks)
(i) Angle RTS | (2mks)
(b) Given that QU is parallel to RT"
(1mk)

(1) State the triangles which are similar.
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